d/D

y

[D/d]o = 0.66+0.56 (n=10) [D/d]o = 1%0 (n=10) [D/d], = 0.972+0.058 (n=10)
[D/P]* = 1.30+0.53 [D/P]* = 0.976+0.055 [D/P]* =1+0
MSWD = 1.4, p(x?) =0.2 MSWD = 1.2, p(x?) = 0.28 MSWD = 1.2, p(x?) = 0.29

o-—- o-—-
[ | | | 1 [ | | | 1 [ | | | 1
0.5 1.0 15 2.0 0.0 0.5 1.0 15 2.0 0.0 0.5 1.0 15 2.0
x=P/d x=P/d x=P/d
[D/d]o = 0.76 0.56 (n=10) [D/d]o = 1+0 (n=10) [D/d]y = 0.972+0.058 (n=10)
[D/P)* = 1.22+0.53 [D/P]* = 0.976 +0.055 [D/P]* =10

MSWD = 1.4, p(x?) = 0.21 MSWD = 1.2, p(x?) = 0.28 MSWD = 1.2, p(x?) = 0.29




